A toy problem

Three children had some toys.

Each child had an odd number of toys

Altogether they had 15 toys

How many toys did they have each?

Find different ways to do it.

What could you use to help you?

Draw your answers in your book.
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A toy problem

2 children had some toys.

Altogether they had 10 toys

How many toys did they have each?

Find different ways to do it.

What could you use to help you?

Draw your answers in your book.
A toy problem

2 children had some toys.

Altogether they had 6 toys

How many toys did they have each?

Find different ways to do it.

What could you use to help you?

Draw your answers in your book. 
